
Horizontal multiplication

Math in English

Multiply the following numbers

5 102 =× 2 8 =× 6 6 =×

6 3 =× 10 9 =× 5 7 =×

3 4 =× 4 10 =× 3 8 =×

3 5 =× 7 2 =× 9 6 =×

7 6 =× 3 3 =× 3 10 =×

6 7 =× 5 4 =× 3 2 =×

8 3 =× 8 5 =× 5 3 =×



Horizontal multiplication

Math in English

Multiply the following numbers

5 102 =× 2 168 =× 6 366 =×

6 183 =× 10 909 =× 5 357 =×

3 124 =× 4 4010 =× 3 248 =×

3 155 =× 7 142 =× 9 546 =×

7 426 =× 3 93 =× 3 3010 =×

6 427 =× 5 204 =× 3 62 =×

8 243 =× 8 405 =× 5 153 =×


